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WEEKLY TEST TYM TEST - 33 BALLIWALA
SOLUTION Date 29-12-2019

[PHYSICS]

1. (a) v=ni=2x5=10cmfsec 11. (a) U=JE:>U&= ﬂz\/Izl
P, Py VI6 3

2. (@) Upay =aw=ax2m=0.1x27x 300 = 607 cm/ sec

, 2 . #
3. (c) Phase difference = Tﬂ x path difference 12. (d) Speed of sound in gases is v = % =T«eM
=1.6r = i—ﬁx 40 = A =50 cm=0.5m (Because v, y-constant). Hence Ez My,
0, Mo,
= v=nA= 330=0.5xn=n=660Hz T 9
Hy o
= —2 - =T, =232K=-249.7°C
4. (a) (273+100) 32 "
v 1.7x1000 ~
5 (a) /12;:4'2);7106:4“04’“ 13. (c) Path difference A:%xqﬁ = 1=%x%:>/1=
4m
6. (c¢) Velocity of sound in gas U=J% = UKJ% Hence v=ni = 120x4 =480 m/s

14. (a) Suppose the distance between shooter and reflecting

surface is d. Hence time interval for hearing echo is

= d N
Ule Y He -
6]
7. (a) Time required for a point to move from maximum ST D
) . . T 1 2d 2d
displacement to zero displacement is t = i t=— =>8=— =d=1400m
n v
1 1 yP P
= n=—=———=147H; ] :‘7- . —
n 4= 120170 z 15. (d) v s as P changes, p also changes. Hence ;
8 © i-= v @ 17m remains constant so speed remains constant.
' n 200 16.
9. (a) The time taken by the stone to reach the lake
t = 2 [@J =10sec (Using
g 10
h_ut_'_igtz) 2d1 +2d2 = U)(tl +Uxt2 = Z(dl +d2)= U(t] +t2)
2 d+d _u(t]+t2)=340x(1.5+3.5)_850 m
Now time taken by sound from lake to the man e 2 2
h 500 . fJRT
== 17. (b) B = | T
b= =210 1.5sec (b) By using v M SvayT
= Total time =t; +t, =10+1.5=115sec.
v T. ’T+6OO 0
10. b) Distance between a compression and the nearest u_2 =J?72 "1 =3 = T=300K=27C
1 1
rarefaction is A =1m. Hence
2 RT
L 360 18. (0 v= Fiuxﬁ
n=—=——=180Hz.
- “f“_‘ o E oo i.e. if v is doubled then T becomes four times,
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hence T, =4T, =4(273 +27)=1200K = 927°C
19. (c) Since solid has both the properties (rigidity and

elasticity)
20. (b) Frequency of waveis n= 3600 Hz =
2x60
v 760
A=—=—=253m.
n 30
[CHEMISTRY]
21 B
22.
Reactivity of alkali metals: Li <Na <K <Rb <Cs.
Reactivity of halogens: Fe > Cl > Br > |
23.
It is as per their emf values. The reducing power does not only depend upon ionisation
energy but also on enthalpy of atomisation and enthalpy of hydration also.
24 A
25.
The maximum covalency of Be is 4, e.g., Na,[Be(OH), ] while that of Al is 6, e.g.,
Na 3{A.1F6 ] .
26. A
27. B
28.
IE of Mg: Na<Al<Mg
29.
KO,: +1+2r=0 = x=_%
30.
B(Z =5):15°25%2p" ;Al(Z=13):15%2522p%3s%3 p
3L. A
32.
H\ /O—H !
O—B\O ; B issp” and O is sp> hybridised.
I
H
33. D
34.

1
5 Al2Clg +6H,0— [Al(H,0)¢1**+ 3C1™

35.  Cs because of its low IE emits electron under the
influence of even candle light.

36. LiHCO, is unstable and exists only in solution.

37. Non-metal oxides being acidic decompose car-
bonates to evolve CO, gas.

38. NaNOjis called chile salt petre.

39. Mixture of K,CO;4 and Na,COj, is called fusion
mixture.

40. BaCOj; > SrCO; > CaCO; > MgCO;.  Thermal
stability decreases as the basic character of the
metal hydroxide decreases.
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